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(1) There are 50 questions in the Test Booklet. | (1)
The answer of each question is any one
out of A, B, C and D. Four alternatives
are given with the question. You have to
answer all the questions. @)

(2)  Each correct answer carries (1)one mark.
For each wrong multiple answer for each
question will be treated as wrong. No
negative marking for wrong answer.

(3)  You have to answer on the OMR Sheet is 3
given separately to you. For example :
Which State of India has the longest Sea

Coast ?
(A) Maharashtra (B) Tamil Nadu
(C) Gujarat (D) Andra Pradesh

In OMR Answer Sheet :

ONOR MO,

The true answer is "C". Hence circle of
"C" is blackened (encode).
(4)  Don't write anything on the Test Booklet.
(5)  Use blue/black inked ballpoint pen for @)
filling responses in the OMR Answer 5)
Sheet. Any other ink, pen or Pencil is
strictly prohibited.

(6) During exam from candidate, if any false
matter, guide, cheats, slips, any handwritten
material, any printed material, mobile phone,
pager, calculator or any electronic|
equipments are found he/she will be
disqualified.

(7) Gossips, making noise or disobeying | (7)
instructions given by Invigilator will be
considered disobedience.

(8) Do Rough Work on last page. 8)

(6)

| Total Marks : 50 |

L—————J

Do not open the Question
Booklet until ask to do so.
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1 Which of the following types of risk can be attributed to macro variable and is
usually beyond the control of the business ?
(A) Systematic risk (B) Unsystematic risk
(C) Residual risk (D) Diversifiable risk
AAniofl suL usiRg Avid AudAasl ARBMstad wendl 8 wd W Ad A
At FdARl ek §ly 8 7

(A)  ugliud Avn (B) ugliard Aun
(C) oudl g Avn (D) Al=AcR Avy
2 PEST is an acronym which stands for -

PEST< y3 -t § & ?

(A) Product Economy Society Technology
(B) Political Economic Societal Technological
(C) Political Economic Social Technology
(D) People Economy Standards Transport

3 Repo Rate refers to the rate at which -
(A) RBI borrows short-term money from the market
(B) Dbanks keep the money with RBI
(C) banks take money from RBI after offering some securities
(D) forex is purchased by RBI
EAIRELENEL
(A) RBI s124idfl gsioiou vz e qad.
(B) 618l aue{laus WA Y v B,
(€©) 32dls wnlve0A>0 2w uedl 618 260 WAl Y 4 8.

(D) S13su (RRel -ugl) 2uellzus gl wdleadi 2ud 8.

4 Match the items given in List-I and List-II.

List-1 List-11
a. Economic liberalization i. IT-enabled services
b.  Outsourcing it.  SFIO
c. Corporate frauds iii. Macro economics stability
d. Second generation reforms iv.  Increased competition
YUEL-T 2 UUE-THL 2U0a gl AvAL.

AEl-1 wel-1m
a.  UBls Gedlsw i 2uSd-uan Al
b. UGkl ii. S.FLO.
c.  slilRe Bafid] iii. AL SANBsA [Ral
d.  ofley Wl YR iv.  audl odl uyl
Code/ §2 :

a b c d
(A) i ii iii v

B) i @i i v
© i i iv i
(D) iv i i il
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5 Main objectives of CRR and SLR is to ensure

(i)  Liquidity position of Bank

(it) Financial position of Bank

(iii) Profit position of Bank

(A) Only (i) is correct. (B)
(C) Only (iii) is correct. (D)

Only (ii) is correct.

All are correct.

CRR % SLR-l %vy GRa g yFBud s 8 ?

(i) olsl aracduidl Raly

(i) oisll urngla Rk
(i) 6lsl sl Rl
(A) WL (1) % A3 B, (B) Mt (i) % 3 8.
(C) A (jii) ¥ WY 8. (D) oL ARAL B,
6 Match the items of List-I with List-lI and indicate the correct answer code.
List-I List-II
a. Micro external i. Economic and political
environment factors
b. Macro external ii.  Competition among diverse
environment products targeting disposable
income of consumers
c. Non-price competition iii.  Input suppliers
Desire competition iv.  Sponsoring of events
like sports
ALEl-1 v 0gl-TML 20e g0 AvAl.
wEl-1 il
a. Y& GUE dldlaRel i Rl 2 AwhA wReim
b. Wl U dldldRel i, sl FsaRol »udasm
aslild sl [y axgall
923 Wyl
Bie-eua 2yl fii. S HlExl Yas8ieRl
d. Sl 2yl iv.  WddMd Fat stdsHd
A% $9
Code / §2 :

A) i i v i

B) i i v i

© iv i i i

) iv i i iii
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7 Arrange the following procedure of income tax return e-filling in India

a. Login

b. Registration

c. Verification

d. Downloading utility and preparing return

e. E-filling of income tax return

GURAML 2d5dA Redl S-g18Riatl uBul audl.
a.  difn

b,  luell

c. aswell

d. GuaAllidl A6l sl A Re-l dur s24.

e.  S-vasdu Red oirg

Choose the correct answer from the options given below.
12 el Rsedyifl ARy vt s,

(A) ab,c,d, e (B) a, c b,e d
(C) b,a e dc (D) b,a,d, e c

8 Which one of the following is not covered in the approach adopted by NITI

Aayog ?
(A) 5 year planning approach (B) 3 year action agenda
(C) 7 year strategy (D) 15 year vision
Al 203 glL siuciaqi sudal «femul AA-uuidl sy 2is 2uadl dami
i el ?
(A) Ay suRie v (B) 3 ar+l s A%l
(C) 7 ad-l eyl (D) 15 ad-l gellal
9 Out of the following which is not major.component of gross domestic product ?

(A) Personal consumption expenditure

(B) Gross private domestic investment

(C) Net personal income

(D) Net export

Q] 84 g uig Gaue-sl vy Hes ol ?

(A) <lsaoid quel wa (B) &4 vl ug AsLL
(€©) Al A5 sias (D) Al Hs

10 If P/V ratio is 50%; margin of safety is 30% and sales is ¥ 1,00,000 what will be
amount of fixed cost?

A ~1gt-2al Rl 50% S14, Aclidl 2uoll 30% 1A ARl T 1,00,000 €A dl ga
RaAR A 3eel q?

A) 30,000 @) 70,000
©) ¥ 35,000 (D) < 15,000

BPK-21010_A] 4 [ Contd...



11  Statement I : During the period of prosperity changes in incomes of the people and
prices of goods affect exports and imports of goods and thereby influence the

balance of payments.

Statement II : Cyclical disequilibrium is caused by the fluctuations in the economic
activity or what are known as trade cycles.

Codes :

(A) Statement I is correct, but 1I is incorrect
(B) Statement II is correct, but I is incorrect
(C) Both the statements I and II are correct
(D) Both the statements I and II are incorrect

s | el Ao el dldi-l suasii 3331 i Alogagpi-l Bud
el Fisial 217 2Utd 2112 53 8 21 d Ad ysasl-u dugei-l augaun Agaqq
AR 52 B,

sue 2 ABA vyugal ks ugfal auue syl FA AR As ddld o
21 B deil S1REL AU D,

a3 :

(A) R 1w 8, uig2vlg ®
(B) [ 204 &, uig 1 & 8
(C) 1A 26iA R w8
(D) 14 2 oiq R vla 8

12 An improvement in technology lowers the cost of producing coffee. At the same
time, the consumers' preference for coffee increases. The equilibrium price of

coffee will -

(A) Rise, fall or stay, depending on the relative size of the shifts in the demand
and supply curves

(B) Remain the same
(C) Fall
(D) Rise

asMAal g aqill 41 Geute-l v 20 w8, Wl o A8 we AesiHl
yieoll adl oy B, AL Aglid Budsl g HRer aa?

(A) Mo A YRASIL AAisHL 3811 A4 587 HURIR QIR 821 waaL vl 88
(B) ¥ % 3wl

(C) ued

(D) qud

BPK-21010_A ] S [ Contd...



13 Consider the following parties and arrange them in the correct sequence in the
event of dissolution of a firm.

(i)  Secured creditors

(ii) Unsecured creditors

(iii) Partners who have granted loans

(iv) Partners who have contributed over and above profit-sharing ratio
Wl Rl Rl 031 vasiAA oy s14i odsdl.

(i) Yla AvieR

(i) wyRld azelRd

(i) L elleRl 3 FHRL did 2l |

(iv)  @arewrled 3 FuR sl adurll-i delur sl ddl 4y dRiels 20 )
(A) (), (1), (i), (iv) (B) (i), (1), (iii), (iv)

€ @), (i), (iv), (iii) (D) (i), (1), (iv), (iii)

14 Which of the following statements is not true?
(A) Expenditure intended to benefit current is capital expenditure
(B) Amount paid for acquiring goodwill is capital expenditure

(C)  Wages paid for the installation of a new machine is usually debited to wages
account

(D) Revenue expenditure is not intended to benefit future period
Aol 54 B 0 4 ?

(A) g -l aiet Aaadisl suaa 4R1adl vl A wdydl vl 8
B) wadl e ysaarml uadl 2w A Yi vl |

(C)  ~tat M2l 22u-L M2 Ysaul Biiddl Ad=a A=A A Adte vl GUR
S A 8

(D) A8yl vl 8 el AnAdioUA ey siuall Al

15 Match the item of the following two lists and indicate the correct answer :

a. Earning ability of a firm 1. basis of accounting
b. Conservatism ii. PV ratio

c. Cash Profit iii.  Cash flow statement
d. Cash and Accrual ~1v.  Prudence

AEL-1 24 YEL-2%1 2Uhe R0 ARviLL.

a. Ul ssuan-ll sl i AsGRotel UUR
b.  3R¥ddl ii.  AAst-orea-l dRiuR
c. s A8l iii. A3 UL UAS

d. AsS v HOANIL dv. uweeldl

Code :

(A) i iv i i
B i i v il
© i v i i
D) i v @i i
BPK-21010_A] 6 [ Contd...



16 X Ltd has a liquid ratio of 2:1. If its stock is 40,000 and its current liabilities are
of 1,00,000, its current ratio will be-

(A) 1.4 times (B) 2.4 times

(C) 1.2 times (D) 3.4 times

A [RBR3D dradid Aelid 2:1 8. B d-il 2205 40,000 €1 27 d-ll g
gaieieidlzil 1,00,000-) €1d, db d«dl g el sa?

(A) 1.4 aud (B) 2.4 aud

(C) 12 aud (D) 3.4 qud

17  Renu currently spends ¥ 2,000 per month on long-distance calls. If the telephone

company decides to reduce the rate from 30 I a minute to 15 < a minute, then

" (A) Whether she spends more or less than T 2,000 per month depends on whether

long distance calls are a normal good or an inferior good.

(B)  She will spend less than ¥ 2,000 per month on long-distance call as the new

price is an effective price floor.

(C) Whether she spends more or less than I 2,000 per month on long-distance
call depends on whether her demand is elastic or inelastic.

(D) She will spend more than ¥ 2,000 per month on long-distance calls as her

demand has shifted out.

U Sieui aiol vidarl fla ur e 1A T 2,000 vl 53 8. A euda susdl e s
Pafrie- 30 3fuauell 921l 15 30an wki M2 saiedl FHely @ 8, dl uel d €2 218
Mleul 15 3l s 2 8, Ar...

(A) Qe 1A T 2,000 ay 3209 Wl 53D 3 Al drl 2UHIR B dd YR Wl
8 ¥ aisu 2id-il Ad A RgAW B ¥ Badl seu-ll axg/Aa 87

(B) Q dioil vid-t Na ¥z g2 1A T 2,000 wwt el v 528 5120 § AAdl
Bud RS Bud sdl 9.

(©) q ditit vide-il 514 U €2 4R T 2,000 ay 3 2Dl v 2 8 3 33 a-ll
Hiol RAfaRaus 8 3 «dl.

(D)  ael-l wist vl A aell, A aiolt vd-l sled uR 2 1A T 2,0004 ay
vl 539,

BPK-21010 A ] 7 [ Contd...



18

19

20

What is the amount of gross profit if the stock turnover ratio is 6 times; average
stock is T 8,000; and selling price is 25% above cost?

o 2R156ual-l IRIR 6 €. wIAA A, T 8,000 & A ARABud Bxd widr
5l 25% QR B, dl 51 8\ ed) 87

A 2,000 (B) ¥ 4,000
© 10,000 (D) T 12,000

In a market economy, the allocation of resources between different productive
activities is determined ara mainly by :

(A) The decision of the government
(B) The wealth of entrepreneurs
(C) The pattern of consumer expenditure

(D) The supply of factors of production

ool vidaani, Ry Geuies gl 923 A1) siaell yroud d-1 gl
455l saul wd 87

(A) ™SR [Fely

(B) Galoruslusi-l Aul

(C) Guedlsdl wa-l ded

(D)  Gewlet-il uRetol-l yaél

Veblen goods are -

1. goods a consumer can afford with current income

2. as the price of a particular good increase, there is in demand
3. goods become valuable as they are status symbol items

4, stauts symbol items

Choose the correct option :

(A) 1 only (B) 2,3 only
(C) Both 3 and 4 (D) 1 and 4 only
qedint (Veblen) wia »2d?

1 adsud »ias 08 Ates wad a3 adl Alsargail.

2. SUAHl QUL AdL HiRHE H21 0y S,

3. [Budul quRl adil d yeudist o 9.

4. weu Rwele

AR [Asey wie s :

(A) &5 1 (B) %3d2,3
(C) 3 A 4 64 (D) $5d 1 2 4

BPK-21010_A] 8 [ Contd...



21 A firm sells its product at a price lower than the opportunity cost of the imputs
used to produce it. Which of the following is true?

(A)
(B)
©
D)

The firm will earn accounting and economic profits.

The firm will face accounting and economic losses.

The firm will face an accour_;ting loss but earn economic profits.
The firm may earn accounting profits but will face economic losses.

25 WG Arll Gewrg W2 Gualorl Adidl $:Y2 Ads w2l scdl ugl >0l Bud d-ll
Ryl AR 52 D, dl d AN 53 w3 87

(A)
(B)
©
(D)

4l G20l 2 s sl R4

A G2 1A 2UBLs sl Al s w3l

AR A516[201 vilel Arnsl 54l ud, uig 2lls gl ual.

U4 A6162a 48 Aadl 93 B, uid A Ulls sl -l sl w3l

22  Match the statements in List-1 with dividend models in List-II as follows:

List-I List-Il

Dividend Capitalization 1. Traditional Model Approach
Dividend policy has a ii.  Gordon Model

bearing on the share

valuation

Stock market places more iii.  Walter Model

weight on dividends than
on retain earnings

Dividend payout is iv.  Modigliani and Miller Model
irrelevant to the value of
the firm
QEl-1 2 2 A
yuel-1 Y gl-2
Rlas~s ydlsrel i uuRoLd Hisd A
AL Yeuisdn Rlag= ii.  Gordon Model
Rl AR 52 8
Aoz nadl uvia saell ili.  Walter Model
sl Rlasws wR ay &R
e
WAL yeu w2 Rzl iv.  Modigliani and Miller Model

(A)
(B)
©
(D)

ysarll viugd 8

a b c d
i i i v
i i v i
v i i

i iv i i

BPK-21010_A ] 9 [ Contd...



23

24

Consider the following statements.

Assertion (A) : A well-developed money market is the basis for an effective
monetary policy. It is in the money market that the Central Bank comes into contact
with the financial sectors of the economy as a whole and it is through the liquidity
in the market that influences the cost and availability of credit.

Reasoning (R) : A well-organized money market is an essential condition for the
successful operation of the Central Banking policies, and for holding the conditions
of liquidity within the bounds of what the monetary authorities consider desirable.

(A) (A) is true but (R) is false
(B) (R) is true but (A) is false
(C) (A) is true and (R) offers correct explanation of (A)
(D) Both (A) and (R) are false

(AL [ eunul dl.

Mded (A) : il Ad Rslid Aelism A sasrs usnda kA wad 8.
ARliGNRUL % HHR Ors A ddairdl uRngly Al WA Asad Wl B A
oMl Haufsal gkl o [Reel Brd 2 wadia 21342 52 8.

df R) : A-2a AlFo Rl Asn duidn W2 A ARidy Adiawns) ¥
$29+13 12 & A~ Huleril wallSalrl A=A Al AvtAl 12 YRALAB URLsER
B B4YUS U D

(A) (A)u B, uig (R) W &
(B) [R) AR O, uig (A) ¥ &
(C) (A) A B A1 (R) (A) A Wl aHgAl 20l 8

(D) (A) 24 (R) 6iq wlat 8

X is Indian resident he has paid medical insurance for him I 70,000. The amount
eligible for deduction u/s 80 D for AY 2023-24 is-

X olRc{ld AL 8. dRl d-w 12 ARsa Sl U2 T 70,000 Ysur 8. susiell
qy 2023-24 M2 sex 80 D 854 Suld M Wiot Y 32]?

(A) T 30,000
(B) < 70,000
(C) < 25,000

D) < 50,000

BPK-21010_A] 10 [ Contd...



25  Match the items from List-I and List-II

List-1 List-1I
a. Tax planning 1. Making suitable arrangement
of TDS
Tax Avoidance ii.  Understatement of income
Tax evasion iii.  Availing deduction u/s 10-A
of Income Tax Act
d. Tax Administration iv.  Misinterpreting the provision

of the Income Tax Act

YEl-1 24 2 %A

Y€l yigl-2
£24R0 L%+ i Adu-l doy el sdl
. RAv a0 ii. a5 el A 20 saladl
c. s iii. s sueldl sad 10 A dsa
Sqd-l Al adl
d. 251 A3MMpux iv.  Uasd sueldl RS vig
wduend 539
a b c d
A i i v i
(B) i v i i

(©) i iv i i
D) iv i i i

26 Division P is an investment centre within PC Ltd. Over which of the following
is the manager of division P likely to have control?

1. Transfer prices
2. Level of stock in the division
3. Discretionary fixed costs incurred in the division

4.  Apportionted head office costs
RREx« P Il RaPa23 21s Asiel 3w 8. AA-uniall 53 P oo A% vigu
850 dlalrll asudl 87

1. $wiedl Bud

2. Rlax-ui @lsd wwd

RREax-ui adal RAsdl Rad wal
Y v gl adyHl 2dd v
Codes / 513 :

(A) 1,2,3 and /¥ 4

(B) 1,2 and /43

(C) land/ %42

(D) 2and /%A 3

B
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27  Identify the odd one/s from the following in context of arm's length pricing
1. Advance ruling
2. Cost plus method
3. Profit split method
4. Stock option

Codes :
(A) 1, 2 only (B) 2,3 only
€ 1,4 only (D) 3,4 only

i d-y Buder Aeelul AA-niell sy w0 87
1 2z 3Ria
2. “idradl ugld
3. «sl aduell uglt
4

s wlwe
AT
(A) &% 1,2 (B) 52,3
(C) 851 1,4 (D) 8543, 4

28 Match the items of List-I with items of List-II and select the correct code of

matching.
List-T List-II
a. Market leader i. Avoid hostile attacks on rivals
b. Market challenger ii.  Attack the market leader
c. Market followers iii.  Provide a high level of
specialization
d. Market nicher iv.  Attack the market
-1 A AEl-240 A0 a2l 23,
el-1 ugl-2
a. Wi dlw i el uR wrdiysl gual awll
b. e Ad-n i. ¥z dliR ur gudl s
c.  MF2 sldlal ii. G [@AudlL Her sl
d. W32 [HAR (Market nicher) iv.  H1Ee YR vsMLL A
Code :
a b c d
(A) iv i i iii
(B) ii iv i i

© @i i v i
D) i i iv i
BPK-21010 A] 12 [ Contd...



29

30

Which of the following is/are true about the Negotiable Instruments Act, the

Promissory Note?

1. Definition of Promissory Note is given in section 8 of the Negotiable
Instrument Act

2 Containing an unconditional undertaking

3 To pay a certain sum of money only to a specific person or the bearer

4. The seller is bound to accept the promissory note

5. A document was written and signed by the payer/maker

WIRIANY §Rgi2 se viddd WHad D2 B QEAunidl s we 8/87

Lo B exll cprvy Aol fudng Szl 2 vise-l sas gul suuaii wudl 8.

2. Biuadl aigudl wuadl.

3. AU AlZ 3 s o AYs W Ysadl.

4. QiR MR 2 dlsiar e siwiddl 8.

5. ASAUYBAULES GIRL ERALLY @Bl Uil Scil A dell U SR s2UuL
VUL ddl.

Codes / 913 :

(A) 2,3and/¥A 5

(B) 2,3 and/ A 4

(C) 1,2,3and/ ¥4 4

(D) All of the above / 2 ®4l %

Arrange the following steps in a logical sequence of the claim settlement procedure
in the insurance :

Scrutinisation

Investigation of an assessment
Claim form

Notice of loss

. Settlement of arbitration

(A waaia i say Fead-2 uBaidl s suui olgdl.
a.  asael

b.  2usRBAAl dw

c.  eldl s

d.  dsul AfA

e. B e

Choose the correct answer from following options :
Tl [sedlnigll AR wqls ude 532,

(A) a b, c,dand/ ¥ e

(B) c,a,d band/ e

(C) ¢, b,a eand/ A d

(D) d,c,a band/ % e

© oo op

BPK-21010_A] 13 [ Contd...



31

32

33

When a GST dealer in Haryana sells a product to a GST dealer or customer in
Punjab, the tax collected is :

o1 sRueuMl AU dar, Uat-il S DAL da A4l Yol AlssA 51
axg 43 B, R AsBid @ A8 52 suL [l 87

(A) SGST (B) CGST

(C) 1GST (D) UTGST

Under GST law, the aggregate turnover of a dealer is determined on the basis of :
(A) State wise

(B) Pan India

(C) Region wise

(D) 1t lies at the discretion of central government

AUA sluel 350, dazqd ga e-dallar AL 2R A8l s20ml 20l 8.

(A)  UAHAR (B) M MRl

(C)  dzU wMEL (D) A 3% A1 W u 2R 8.

Match the following,.

List-I List-I1
a. 1956 . Consumer Protection Act
1986 2. Indian Companies Act
c. 1992 3. Securities and Exchange
Board of India
d. 2002 4, Securitization Act
-1 A ALE-24 A argila AL,
yeel-1 wgl-2
a. 1956 1. ues yral W
b. 1986 2. erdly dudl wR
c. 1992 3. (2D wA A
atdly o)l (Aell)
d. 2002 4.  [syRasda- »1se
Code :
a b c d
(A) 2 1 3 4
1 2 3 4
< 2 3 1 4
™ 1 4 3 2

BPK-21010 A ] 14 [ Contd...



34 Who can be partner in a limited liability partnership?

(A)
(B)
©)
D)

An individual

A body corporate
A HUF

Both (A) and (B)

WuillRd waseddd epelleidlai sel euslleir ol a3?

(A)
(B)
©)
)

5t

o)ldl SluiRe

ws H.UF.

ts (A) 11 (B)

35 Which of the following can be termed as the general benefits of Limited Liability
Partnership?

1.
2.

S.

Less compliance cost

Audit necessary only if turnover and contribution exceed 40 lacs and 25 lacs
respectively.

The partners can distribute the profits among themselves without attracting
any further taxation, i.e., Dividend Distribution Tax.

Various stringent provisions that prohibit the company to take loans from
individual or give loans to the respective director are not there in case of
LLP.

There are no restictions on related party transactions in case of LLP.

{lAnidl 55 ousdn Halkd waweld-dl ouolleidldl A aer sl ws ?

1.
2.
3.

5.

Uil el v

ol 21 AR A grousll R s 40 Qe w25 st ol all dl 2042 %39
GR(lelR] 423 s2AR, 212d 3, R RReyaq 25uA sl R st
vigAvie [Qde 53 w1 8.

R acioeidd-l euelaidl-u Bl sudla ali wadl diq dal vaal
Aol Rse- @l hual u ulieiy Ysdl [RY 535 RS 4.

Wy oatsteldl- edlleidl- Bl deifid watnl a1 4 S wkioiy <ol

Codes / 913 :

A)
(B)
©)
(D)

1,2,3 and / A 4
2,3, 4and /¥ 5
2,4 and /¥ 5

1,2,3,4and/ ¥4 5
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Consider the following statements regarding Competition Commission of India ?
1. It was established in 2023.

2. Commission has been functioning as a single member body right from its
inception.

Which among the above statements is/are correct ?
(A) 1 only

(B) 2 only

(C) both 1 and 2

(D) neither 1 nor 2

AMRAA sPigs 2)e S[Rar U AA Rl sl QL ?

1. all e 202330 sl »udl edl.

2. sPrast Al ageuddll o As veuziza (A Bereldl) adl s 4 24 8.
Gusd Ruliofl s34 0 & J i B 7

(A) &5 1

(B) &5d 2

(C) 1326

(D) 132l 88 sl

Arrange the steps of Incorporation of an LLP sequence :
1. Application for DPIN

2, Filing of LLP agreement

3. Application for DSC

4, Incorporation of LLP

wulRd e enalleidldl Braumi Al sl wBad s odedl -
1. DIN ¥l2 2

2. HallRd waeetdldl enelleidl-l (LLP) 53R IS¢ $d

3. DSC U2 ¥R®

4. LLP-l 3144 (Incorporation of LLP)

Codes / 513 :

(A) 1,3,2,4
(B) 3,1,4,2
© 2,1,3,4
D) 1,23, 4

BPK-21010_A ] 16 [ Contd...



(23

38

39

40

According to Section 14, consent is said to be free when it is not caused by :

L. Coercion

2 Undue influence
3. Fraud

4 Misrepresentation
5 Mistake

b Y

say 14 oo, AUl Ysd Sldid s8aigl, 2uR d 13 ula gl 4y ?
1. oeexdt

2. wdfd soua

3. odld

4. d 1R

5. o4
Codes / 513 :

(A) 1,2and/ ¥4 3 (B) 2,3 and /% 4

(C) 1,2,3 and/ ¥4 4 D) 1,2,3,4and /¥ 5

Which of these contracts has three parties consisting of creditor, principal debtor
and surety ?

(A) Contract of indemnity (B) Contract of surety

(C) Contract of pledge (D) Contract of guarantee

Al s91 sAAL AR YASRA-ARIEIR, Yoo BaisR 29 () yHda
ud 8 ?

(A) 45U AdR-L SRAR B) Al 2R

(C) ulasu-l A2 (D) AL KW

Any guarantee which the creditor has obtained by means of keeping silence as to
material circumstances is :

(A) Valid (B) Considered to be his approval invalid
(C) Invalid (D) Considered to be his denial

A uglL A ¥ AvielR Y olsdliARl i3 N AR Aadl U D q...

(A) WO (B) arll Hygdl Wi wud 8

(C) MY B (D)  drll S5 ARAHL Aud B,
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-l

Match the item of List I with the items of List II and denote the code of correct

matching
List I List Il
a. Basic product i. Set of attributes and
conditions buyers normally expect
b. Expected product ii.  Possible augmentation and
transformation the product might
undergo in future
Argumented product iti. Exceeds customer expectations
d. Potential product iv.  Converting code benefits into

product
QgL 1 2 A1gl 11 A 2le argaild Al e
gl | wel 1
a.  Hueld dzguil i, aarl i Al Ay ¥ vidleeld
AR d wha A S,

b.  wURd Gaulen ii.  Aeia oy A uRad-
el Geutesdiell vk as ad 8.

c.  Halld Geule i, auesl xlaudl sdl adl . 8.

d. Aeilad Geuted iv. 3oy oyld Geawleui 3uldRd 59

(A) a-iii, b-iv, c-i, d-ii {B) a-i, b-iii, c-iv, d-ii

(C)  a-i, b-iv, c-iii, d-ii (D)  a-iv, b-i, c-iii, d-ii

Fixing the value of an employee depending upon his productivity, promotability,
transferability and retainability is the core of

(A) Certainty equivalent model
(B) Stochastic reward valuation model.
(C) Human asset multiplier model

(D) Present value of future earning model

sl Ganesdl, sadl, astlel 24 nnazl adirl 2UHR Al YeU A58l 529
B Al Sid €€ 8 7

(A) [MBaddl a4ss 13 (Certainty equivalent model)
(B) RRes ERIN alégi;lil"l H13@ (Stochastic reward valuation model)
(C) gu~t A2 el Hdd (Human asset multiplier model)

(D) -l sHell- aduid Heye Y134 (Present value of future earning model)
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43  Which of the following can be taken as the main functions of financial markets ?
1. Price determination

Fund mobilization

Liquidity at a low cost

Risk sharing

A

Capital formation

AaA-aiefl s sdq Rl ozl Yoo sl add as usy ?
1. [Bud Galas

2. ol Gef s

3. 0l Bud RERA
4. Auu-ll adagll

5. %l uidR

Codes / 513 :

(A) 1,2 and /¥ 4

(B) 1,2and /43

(C) 2,3,4and/ A5
(D) 1,2,3, 4and/ ¥ 5

44 A, Y and Z are partners sharing profit in the ratio of 5:4:1. Z is guaranteed
Rs. 40,000 minimum share of profit and any deficit in it will be borne by A and
Y in the ratio of 3:2. If profit for the year is Rs. 2,80,000 how much deficiency

will be borne by X ?
(A) Rs. 1,07,200
(B) Rs. 7,200
(C) Rs. 1,04,800
(D) Rs. 4,800
A, Y 2 Z el 5:4:1 L wRini A8 add 8. eellelk Z A 3. 80,000 <18
il aigadl 8. »u 1Al g2 epdleiR A wA Y 3:2 «ll wuemi add ddl
1AL 8. A Al 18l 3(at 2,80,000 €1d dl MRleiR X 32¢ll Asiq2 eilalad ?
(A) Rs. 1,07,200
(B) Rs. 7,200
(C) Rs. 1,04,800
(D) Rs. 4,800
BPK-21010_A | 19 [ Contd...



45  Which of the following management thinkers described the term marketing mypoia ?

(A)
(B)
©)
(D)

Philip Kotler
Peter Drucker
Theodore Levitt

Luke Sullivan

QAnidl su A2 Ridasial 2oL ay 8% woed avlq s§ 8 7

(A)
(B)
©
(D)

BlRiu sear
Ylez 352

RdR dlae
eys Yluain

46  Which of the following statement is true ?

(A)
(B)
©

(D)

Brand name is a part of a brand which can be
A brand is usually composed of a name and mark of a product.

Brand means a name, term and symbol or a mix thereof used to identify and
distinguish the product of a firm.

All of the above

QA-nmiel 3 [Qa w2 & ?

(A)
(B)
©

(D)

Glws A L Sliweell A5 ool B ¥ eleudl wsy 8.
olled AL Id Geulgrrl A v Rl sAdl €1y 8.

oltesell 28 A B iy, wse 2N Ucdls w™al d-d Bz F-d Gualal Ul
Baleal OBAL BN BEDL WIddL HIZ WA B,

BGYASd MM

47  Which of the following is the best technique to manage the existing products ?

(A)
B)
©
(D)

Ansoff Matrix
Balanced socrecard
BCG Matrix

Product lifecycle analysis

waduid Gaulld argail e w2 A4l 5§ A 25Hs © 7

(A)
(B)
©)
(D)

A-Als A25A (Ansoff Matrix)
QA RA8518

BCG 251

Gyle @aA~As [Reansl
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48  When a company treats every single customer as a separate segment, it is called
(A) Niche marketing (B) Single marketing
(C) Nino marketing (D) Micro marketing
o2 818 Sull €35 ALs s s QN AAA-2 A3 AR B, AR A g s8AHI 2wA B ?
(A) [&lre wi3foL (Niche marketing) (B)  Rivwe wiEloy

(C) -l w3Ea (D) s w3l

49 At which of the following stages of product lifecycle is there a pattern of repeat

or repalcement purchasing ?

(A) Growth stage

(B) Shakeout stage

(C) Maturity stage

(D) Decline stage

Gewtertril @Al AHivl sut doisd yerialkld 3 ceclifl vl ded & ?
(A)  gqla-dl deisst

(B) Us»B2 cloiss)

(©)  uRusad-l deissl

(D) il a8

S0  Which of the following is not matched correctly ?
(A) Sales portfolio - Internal sales promotion
(B) Merchandise allowance - Dealer promotion
(C) Count and recount of stock - Consumer promotion
(D) Advertising - Market promotion
AA-uniell 5§ qou el <) ?
(A) AR QeI - viaRs et qfs
B) HA=SD e - faz Wl
(C)  RUsl dvidd] 2 yriowRiddl - Alss wHlax

(D)  28Ud - &R NHUA
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